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L2.9 Quiz 

 Answers 

2.9. The nanotransistor 
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The plots C1, C1', C2, C2' for current versus (drain) voltage were 

obtained by solving Eqs.(A,B,C), with all the same parameters, except 

possibly for U0 and a . 

2.9a. Compared to plot C1, plot C2 must have used  

 (a) a higher value of U0 

 (b) a lower value of U0 

 (c) a higher value of a  

(d) a lower value of a  

(e) none of the above options 

 

2.9b. Compared to plot C1, plot C1' must have used  

 (a) a higher value of U0 

 (b) a lower value of U0 

 (c) a higher value of a  

(d) a lower value of a  

(e) none of the above options 

 

 


